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The paper relates quality and uncertainty. Goods exist in many different grades and the sellers might be having informational advantage over the buyers about the quality of goods, which they are offering.

In many markets sellers can afford to cheat the buyers because,

Buyers use aggregate statistics to judge the quality of prospective purchases. Returns for good quality (these returns are the ones which change the perception of buyer) are accrued to the group statistics and hence dishonest sellers have an incentive to offer poor quality goods. This brings down the average market quality and the size of the market.

For example, a market has 5 sellers – A, B, C, D and E

A, B, C sell high quality goods and the perception of the buyers about the overall quality is improved. D and E might use this improved perception to attract customers and sell them Lemons. So average quality in the market goes down. Once the Lemons have been recognised by the purchasers, their perception about the quality offered by the market is affected and in future they will be less willing to buy from the market, reducing the demand and hence the size of the market. 

Brands, Licenses and Guarantees overcome this problem, as purchasers don’t bank on overall statistics. Instead they are getting engaged in trades with a particular seller and/of a particular brand. So dishonest sellers can’t exploit the goodwill accumulated by the sellers of better quality goods. 

Automobile market

Assumptions: A car can be placed in one of the 4 boxes.

	
	New
	Used

	Good
	1
	2

	Lemon
	3
	4


Individual in this market buys a new automobile without having an idea about whether it is in box 1 or 3. Probability that it’s in box 1 is q and that it’s in box 3 is (1-q). (The probability reflects the proportion of good cars and lemons resp.)

After using the car for some period, the purchaser develops a better idea about the quality of the car and now he is in a better position to tell whether the car he had purchased turned out to be a box 1 car or a box 3 car. So he will update the associated probabilities. The new estimate about the quality of cars is more accurate than the earlier one.

Now if the owner of such a car decides to sell the car in the used car market, then he knows more about the quality of the car as compared to the buyer and hence an information asymmetry is developed. Since the buyer doesn’t know which used car is good and which is lemon (i.e. whether it belongs to box 2 or 4), the lemons and good ones all sell at the same price. So the price of box 2 and box 4 car is the same (as is the case with box 1 and 3 cars.)

Therefore we have new cars being sold at a specific price irrespective of their quality and used ones being sold at another price, again irrespective of their quality. But these two prices can’t be the same. In fact common sense dictates that used cars will sell at a lower price.

Because,

If both classes – used and new – had the same price then following scenario would arise.

Mr. A goes to the market and buys a new car with q being the probability that it’s good and (1-q) being the probability that it’s bad. After some days he realises that it’s a bad car i.e. a lemon. He updates the probabilities. Now p is the prob. that car is good (p<q) and (1-p) is the probability that the car is bad with (1-p)>(1-q). Mr. A will go back to the market and sell this lemon used car at the same price as that of a new car and buy another new car for himself hoping that it would turn out to be a good one. He has incentive to do this because probability that the newly purchased car will be a good one is q which is higher than the probability that his current car will turn out to be a good one, as q>p.

One more argument,

Good car owner is locked in because why would he sell his good car (here the phrase ‘good car’ refers to a car with a higher probability of being good as buyer had a nice experience with it after the purchase) and buy a new car from the market, which has more probability of being a lemon…simply because the car owner had no experience with it.

….and the used car market is dominated by lemons. Bad cars drive out the new ones

…something similar to Gresham’s law.

Gresham’s law - "Bad money drives out good money." Sir Thomas Gresham (1519-79) English merchant and financier. Law from observation that actual coins in circulation varied considerably from the standard of weight and finesse. Good coins were more valuable for foreign trade where money passed by weight and disappeared where bad coins predominated. 

Bad coins were the ones, which were cut, tampered, spoilt by the public. Their circulation increased in the domestic markets, as they couldn’t be traded on foreign market because of strict regulations for quality, weight and finesse. So good ones went for foreign trade and bad ones prevailed in the domestic market.

The problem of bad quality good driving out good quality goods may be more pathological in a market where continuous spectrum of good quality exists. Bad quality goods will drive out slightly bad quality goods will drive out average quality goods will drive out better quality goods will drive out best quality goods up to such an extent that finally the market is destroyed.

Note: The algebra in the sections B. Asymmetrical Information and C. Symmetrical Information needs to be read completely and step-by-step to understand the conclusions drawn at the end of the sections. Summarising the calculation would sacrifice clarity. These calculations run through one and half page of the Orange book. I would explain the same if required when we discuss the summaries.

Examples of interlinkages between quality and uncertainty:

A. Insurance – people above the age of 65 have great difficulty in buying the medical insurance. Why not to insure them by charging higher premiums to match the risks?

Because, looking at the high levels of premium, only those would opt for the insurance who are more confident about falling ill (an apparent paradox, isn’t it?). Old people who are relatively healthy would decide to stay out of the scheme because of the costs involved. A scenario illustrating the problem of ‘adverse selection.’
            Result – average medical condition of applicants deteriorates as the premium 

            levels increase. 

            (There is a problem of information asymmetry as well. Though the insurance 

            companies ask for health check ups prior to giving the policy, the applicant  

            knows about the confidence levels regarding his/her own health. The applicant 

            less confident about his/her future health would be eager to go for insurance, 

            burdening the company with increased risk.)

B. The employment of minorities:

Empoyers are reluctant to recruit candidates from socially depressed classes, minorities; because the race may serve as a good statistic about applicant’s social background, quality of schooling and general job capabilities.

      Good quality schooling can serve as substitute for this statistic. The grades of 

      the students can give a better indication about their quality. The unreliability 

      of slum schools decreases the economic possibilities for their students. An     

      employer may decide not to hire any person belonging to this group, as it is   

      hard to distinguish between good job qualifications and the bad ones.  Additional information apart from the information about the race should be used and applicants shouldn’t be judges as per the chracteristic of the group to which they belong in order to incentivise for training.

C. The cost of dishonesty:

As seen in the case of automobile market, lemons tend to drive out the better quality goods. Similarly dishonest dealings tend to drive out good dealings out of the market. The cost of dishonesty lies not only in the amount by which the buyer is cheated but also in the cost incurred by driving legitimate business out of existence. Quality variation is more in underdeveloped markets, which ask for a detailed scrutiny of goods provided. For instance in India 85% of export goods is placed under some kind of quality control procedure.

Identifying the quality of goods is a challenging task and the people who are adept at doing this are the successful merchants. In production these skills are equally important to identify the quality of inputs and to certify the quality of outputs. This is one of the reasons why the merchants may logically become the first entrepreneurs.

Still Entrepreneurship is scarce resource because, firstly pay-off to trade is great for would be entrepreneurs and hence they are diverted from production. Secondly, the amount of entrepreneurial time per unit output is greater, the greater the quality variations.

D. Credit markets in underdeveloped countries: 

In India, major fraction of industrial enterprise is controlled by managing agencies. The managing agencies are dominated by castes. This prevails because communal ties can be exploited to ensure honest dealings. In the loan system operating in rural India, landlords charge exorbitant interest rates to peasants because the peasants wouldn’t be granted loans by banks and credit unions because of lack of sound credit history and credibility. Landlords being an integral part of the society can keep a close eye on the borrower and tend to enforce their contracts via easy means.

Counteracting institutions: 

Brands, licenses, product guarantees reduce the uncertainty regarding the quality of goods. Since they form identifiable and traceable channels the consumer is given an opportunity to retaliate if something goes wrong i.e the consumer can curtail future purchases if current or past purchases fail to deliver up to the customer’s expectations.

An example: American hotel chains (mainly located on/near the interurban highways) are preferred by the non-local drivers and travellers as they do provide better hamburgers than average local restaurants. Locals prefer to go to specific restaurants within the town as they have adequate information about all of them. But outsiders travelling on highways tend to opt for chain restaurants to cope with information asymmetry and to reduce uncertainty in quality.

Conclusion: 

Informal and unwritten guarantees are preconditions for trade and production. They proliferate trust. Where these guarantees are indefinite business will suffer. Difficulty of distinguishing good quality from bad is inherent in the business world. This may explain many economic institutions in the world and forms an important facet of uncertainty.

